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Exercise 1:(7 poin?ts) }‘\ |

A man his weight 0M=686.7N, slides on a sea surface which is a
rectilinear horizontal track with the help of a traction cable. At
instant t, = 0s without initial velocity, the man starts from rest in a
uniformly accelerated motion, under the action of a force of _
traction F(exerted by the cable) horizontal and of magnitude :F?:‘ -
F=187.67N. The man travels during this phase 500m durings T e e
25swith the presence of a frictional forcef, = 68.67N.
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The value of gravity g=9.81(m/s?). '\'ﬁzm %

1; Represem'the forhes acting on the man.
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4. Determine the coeff’ i f kinetic frictionpy,.
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5. Show that the sklcr has a uniformly accelerated d movement.
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6. What will be hi 651
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Exercise 2: (3 pOililltS)
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1. Which graph represents no motion(see figure) Why?
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2. Graph (a) doesn’t represent uniform rectilinear motion. Why?

%mﬁhﬂm%4ﬁahbdgu6§%ﬂijmAd}mmﬁ

3. Which graphs represent uniform rectilinear motion?
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Exercise 3: (7 points)

The time equations iof motion of a material point M with relative to R(O, T ﬁ)are given by:
‘ x(t) = 2btcoswt, y(t) = 2btsinwt

In these equations bjand w are constants.

1. Calculate the polér coordinates(rand ¢ ) of M as a function of t.
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r = th r = 4b2t2 {r = 2bt

2. Wnte the posmon vector of point Mtn polar coordinates.
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3. Calculate thevelocity vectorof point Min polar coordinates.

ﬁ?:zb'ﬁ,‘ + 2btw V=257, D V=2bT,

4. Determine the polar components (V, andV/,) of the vector velocity V.
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5. Calculate the acceleration vector of point Min polar coordinates.

D d=2bwl, D @ =2btT, E Q= ~2bcwﬂg

6. Find the cylindrical components (aranda,) of the vectoracceleration d.
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: (3 points)

Exercise 4

Let a point M located in the (OXY) plane with the following parame

tric equations:
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on of the trajectory.
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Deduce the equati
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What is its nature and represent it graphically?
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